1.

A [ ]:12=24:36 04 |2 Fol= Aoz ogre

o= AU

@® (12x21)x 36

@ (12x24)+36

@ (24x36) + 12

® (36x12)x 24

® (24 +36) +12

A

rlo



2.

Aol 5 <l Hlo A 19| Zto] % o o, 73

ol uo] A u]e] 7ol % o o, AFe ©
F5HA 9.

YEE
=%



3. o3 HlOlA 3: 29} H| 9] Fro] T

® 0.75: 0.5 ® 104 : 68

1.2 B 9:4



H] 2] grol % T EE e A o2 YERHEY vl ol =3t

2ok [ = A Teie.

W[ 1sdd:6,27=6: |=[ |:27




& 71 Uil 21 1=2Ae.

EEE

O
)

ot

8
143

11
26

7 4
@ 17§ ® 2ﬁ @

275
650






& A4 7k e AR BRAFY G2 Weld] ga 0 Hel o]
2 7V 70 A40] B2 L 212 ol AU

4em
@b
@ ©
@ > —
“9em”” “11lem-”
® 9:11 @ 45:75 ® 9:15

@ 16:9 ® 5:3



=
<k
aul

H_OL

o|J

iy
[ife]

B
[y
B

]

o] 49000 %%0

1

__OH

_q]

1
o|J
mH

= Aol
U7

ﬂﬂﬂﬁﬂ

=

@ 28000

2

@ 21000

=

O 14000

9]

3 42000

o]

@ 35000



